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Practice Set - 5




/ SPELLING ERRORS

The following questions consist of a
sentence. Four of the words of the
sentences are marked in bold, which may
or may not be correctly spelled. Options
corresponding to misspelled word is your
answer. If there is no misspelled word In
the sentence, then choose Option - (e), I.e.,
‘All are correct’ as your answer:
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1. The Budget's provisons for
collecting more in taxes from the
incomes of the super-rich were
aimed at redistributing wealth to
bring about more |
development.

(a) Provisons

(b) Incomes Option - (a)

(c) Redistributing 'he  spelling — of
(d) development PTOVISONS

should be



@

2. For most of us, education is a
necessary public good central to
the task of nation-building and,
like fresh air, is neccessary to
make our communities come

alive. _ Option — (d) In the given
(a) Education highlighted ~ words,
(b) Central the spelling  of
(c) Building ‘necessary’ is
(d) Neccessary incorrect, and it
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3. The Central Bureou of

Investigation has set up an
Online Child Sexual Abuse and

Exploitation s
Prevention/Investigation Unit!.
(a) Bureou R
(b) Abuse Option - (a)
(c) Exploitation  The spelling of ‘bureou’
(d) Investigation should be ‘bureau’
(e) All are correct
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4. Policymaking has three
essenteal ingredients:
technical elements,
administrative inputs & politic:<\él

goals and packaging.

(a) Policymaking

(b) Essenteal Option - (b) The spelling of
(c) Administrative  ‘essenteal’ should be
(d) Packaging ‘essential,’ which
(e) All are correct ™eans  something

aheonliitelyy necacceary
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5. ldeas rejected more than two
decades ago during the
liberalisaetion phase are back In

circulation.
(a) Rejected
(b) Decades
(c) Liberalisaetion Option - (c) From
(d) Circulation the given options, the
(e) All are correct spelling of

‘liberalisaetion’ IS
Incorrect, and It
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REPLACEMENT
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6. When  the boy regain
consciousness he wanted to eat
something.

(1) If the boy regain

(2) When the boy regained

(3) Despite the boy regain

(4)

&)

On the boy regaining
No change required

(2) when the boy regained is the right
usage.
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/. The social worker wanted to bring
about little changes in the lives of
the people of that village.

(1) to bring back

(2) to bring up

(3) to bring forth

(4)

)

bringing about
No change required
(5) No change required
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8. Reghunath proposes to lay claim for the
Insurance company as soon as he
recovers from the accident.
) lay claim to

) lay claim on

) laying claim towards

)

)

lay claim against

No change required
) lay claimto is the right usage.

lay claim to (Id.): to state that you have a right
to own something.

(1
(2
(3
(4
5
((
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9. The new concession announced by
the Government will have only a
marginalised effect on the lives of
the people.

(1) marginal effect of

(2) margin of effect on

(3) marginal effect on

(4)

(9)

marginalising effect in
No change required
(3) marginal effect on is the
right usaqe.
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10. The Charitable Hospital works under
the auspices from Welfare Trust of an
Industry.

(1) under the auspices by

(2) by the auspices from

(3) through the auspices from

(4)

(32

under the auspices of

WNORRBNGRTERIIREs of is the right
usage. under the auspices of (ld.):
with the help, support/protection of
somebody/something
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11. We are trying to (1)/ find out the
root cause (2)/ of this recurring
problem (3)/ since the last four

days. (4)/ No error (5)

(4) Last four days denotes a
period of time. We use for with
period of time and since with point of

'I':MI\
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12. | told him bluntly (1)/ that he is a lazy
fellow (2)/ and that he had done (3)/ his
work very badly. (4)/ No error.(5)

/\/
(2) We know when the Principal Clause

iIn a sentence (Indirect) is in Past
Tense, the Subordinate Clause
also must be in Past Tense. In
the given sentence | told him
(Principal Clause) is in Past
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13. Mumbai is full of tall buildings (1)/
which is at once its (2)/ strength as

well as weakness (3)/ depending

upon how one look at it. (4)/ NG error>

(5) [8Es

(4) One (Subject) is in Third Person
Singular Number. So, with one we
can use looks, does, etc. In the given
sentence one look should be
replaced with one looks.
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14. | am fully aware that (1)/ my
boss is one of those (2)/ who is
totally dedicated (3)/ to work and
proper discipline. (4)/ No error

(9) (/Q i_.___f -

(3) When the subject of the Verb is a
Relative Pronoun care should be
taken to see that the Verb agrees In

Number and Person of the
AN ~AtAAAAAREt AF A DAIAEtvA DerAarm AL LA
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15. Even though | love coffee (A.)/ |
have chosen to avoid (B.)/ the
beverage because the (C.)/
damage it does to my teeth,/ (D.)/
No error (E.) < T—':'%)

Correct Option: C

The usage of verb ‘because’ is
erroneous IN the
fragment and needs to
be replaced with



/ REARRANGEMENT
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Q16. (A)the merger of Bharti Infratel /
(B) the world’s second largest (
C) and Indus Towers will create

(
(D) tower company
(

a) BCDA (b)CBDA (C)
ACBD

(d)DCAB (e)No rearrangement

reAiisieer (c); The correct

rearrangement of the parts of
statement will be "ACBD”
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Q17. (A) upcoming visit to India
(B) the long-awaited trade agreement /o

(C) during US President Donald /-

Trump's

(D) Appears to be off the table

(a) DABC (b)BDCA (C)
CDAB

(ARGR:  (pfeINGrrearrangament

requirggrrangement of the parts of
statement will be “BDCA”
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Q18. (A)Leaders of the Railway
Employees Organization

(B) alleged that the government wants to

(C) hand over the rail infrastructure

(D) to the private operators for financial

benefit
(a) ADCB (b)BACD c)CDB
(d)DABC (e)No rearrangerﬁ"em)
rAa%VlVreerd( ) No rearrangement N

required






